oooboooobggg220ledb oo ogn

(20170 020 090 O 0O I 08:50 00 9:35)

ooooobogagd

L OOoogImmoooga

. ogggboboboooobbbuoooobbbaoan

Im. goobobooogbbboooobbboooobo
Iv.0oobooobogobgoobobbob pCOO0bOODDOODO

viobogooosooo+oobg20bbobobooboobbooboobbooob
jooogooeononbonon



L. oobogooo

0120 x20

gboA00000000DOOOODbOObOObOOOO0bO100Db0000DbO pOOOODOOD0ODOO

goosboogooooboobggbboobobooobobooboboooboooboDbo
gbobobobobooboobooboo™Wooo sopobbooobooboooooO

ooo 1:

Afx.ffONAfx.f(fx))8)y
(Ax.((Af x.f(fND((Afx. f(fx))g)x))y
(Afx f(fND((Af x.f(fx))8)y)
(Ax.8(gXN(((Afx. f(fx))g)y)
g(((Af x.f(f))8)y))
8(g((Ax.g(gx))y))

8(g(8(g)))

(1) (Aab.ba)(1gx.gx)(1gy-g(gy))
2) (At.t(Aab.b))(Axyg.gxy)(Afx.fx)(Afx.X))
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ooo 2:

(Ax.xx)(Ax.xx)
L (Ax.xx)(Ax.xx)
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0000 (lazy evaluation)

00000 (referential transparency)

0000 (nondeterminism)

00 00000000 (continuation)

CPS (continuation passing style)
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